[sosceles and Equilatersl

Triandles
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;i: IS@SG@L@S teiandles are common in th@
real world. We can find them i
structures such 9s bridées and buildings.
The condgruent sides of a0 isosceles

telangle ave its legs.. The third side is
the base. The two congruent sides from
the vertex angle. The other two angles
are the base angles.
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If two sides of 2 triandle ore congruent,
then the andles opposite those sides are

congruent.




;i: (31\9@1:) [sosceles triangle cﬂ?}@ with L@@S
|  AB and BC




é | Wbt]’VlBg/é/AB and BC.
» N AB=BC

BD = BD
AABD = ACBD




| thlfvleg/yAB and BC.
8 AB=BC

;\\\ Covstruct ray BD, the

& ABC
= <ABD = £CBD

C

QJ MWWW of angle

BD = BD
"M AABD = ACBD




[f two angles of 2 trigndle are congruent,
then the sides opposite the anéles are

congruent
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ui: (31\9@1:) Triangle aCHB(i Wﬂ;h (?@Dg‘;m@m
|  ndles A and C B
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amgl@berctor ofa/ngxle/

A ABC

QJ /ABD = ZCBD

BD BD

AABD = ACBD
o AB BC
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BD BD

AABD = ACBD

AB = BC




-é- | The bisector of the vertex andle of an
isosceles triangle is the perpendiculer
bisector of the base.




ni: Given: [sosceles m@pgle QCHBG Wﬂ;h vertex
|  ongle B B




- w::tlfvleg/yAB and BC.
8 AB=BC

BD = BD

AABD = ACBD

AADB ACDB AD CD —
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| thlfvleg/yAB and BC.
§ AB=BC

Construct ray BD, the
amgle/bwector of angle

A ABC
= ZABD = ZCBD

A\\

BD ~ BD
“W AABD = ACBD
% } /ADB = ACDB AD CD CPCTC
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si: A G@ﬁ@ilé)@y is 9 statement that follows

|  omediately from 2 theorem.
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é [f 2 teiangle is edquilateral, then the
e Griongle IS equigngular.
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Equilateral triangle
ABC

.‘zn. AB=BC= AC
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| ABC
&

P & AB=~BC=AC
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LC /A= /B

ABC ¥
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%
é If 2 teiangle is equisngular, then the
e CrionGle IS equilatersl




b & Cz,A=/B
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AB BC = AC

Tnamgle/ABC 2%
equwugula/t/







